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1.

3
3

Feell ity o e 8 @ Sl 89wt ovw o w

of test booklet is missing. FOF AW, TEEE T IR A T ¥ oure o | el
in case of any discrepancy/defect the candidate should immediately |1 urosy 838 3 5 T 3 gvam 1 oy ¥ 9 faw w8 o
report the mater (o the invigiator for replacement of test booklet & B s 293 wow Prdirh sl 2 2
OMR answer sheet. No clains in this regard will be entertained afier (B 2 o gofi & 39 #in
five mintes of start of examination. Candidate will be hable forin, e k]
2. Answer all questions, i 5
3 Allquestions L:algy exual rln‘n%.a-. . ‘ s S Sty 4 TR T T
4. Qaly one answer 15 to be given for each question. 6. T U B T STEUS T BD M R PR w10 3
3. if more than one answers are marked, it would be reated as S B T 3 v 5 e e «gn;.m 5
! WIOLLE s wer. 7 Gam R @ ST SR R ST 9T A9 mvwa:{
6. Each question has four alternative responses marked senially as F TET FHEE OE '
1. 2. 3,4, You have to darken only one circle oy bubble indicating T WA T ST RGN S E 1/3 W Ee cw | e ee
the correct answer on the Answer Sheet using BLUE BALL ff[. s gisr s o1 B ge %‘@: 3 mﬁ%1W 2 %;I r;ﬁT%
POINTPEN. o i e A AT A A s A a e Tem T A
7. 173 part of the markis) of each gueston will ?we deductad for T
‘ e TN ANSWE, (A WIONE Anewer Means ANINCOMeCt M CT \f o e iy sapony foaes sy ol 99 a7 Shen oy
_‘L or more than one answers for any guestion. Leaving all the iy oAb By 4% Red st 4 S B R
relevant circles of bubbles of any question blank will not be - £ oo ! S T fﬂq&rﬁ ’ W SR qﬁﬁ
congiderad as wrong answer.) WW € g e e FTHIT el apfardt
N 8. Mobile Phone/Bluetooth Devices or any other electronics gadget 4 ZF:Q;F;;“ Fer T S T o7 e ghe
in the examination hall is strictly dealt as per rules. : } N ’I«"ﬁ 3’7’1"5{ ;ﬂ ;;;7 -rfﬁ s ISR SR adl
9. Please correctly fill your Roll Number in O.M.R. Sheet. 5 Marks ZT;“ TF{Q ﬁ :Fﬁ* " ﬁs SR G S 54
- ] Foas 11T e wremer e b o . i T R ORET
\\.:1§ b:? al-(,ducr.u-i for .ﬂiimg .\\«i’ﬂ?l].c_ﬁi‘ %nc%xna;‘wieh, Roéiiul‘ubui T . g S
1 there 1 any sort of ambigaity/mistake either of printiag ot 1 wEe A A ST B T A ST yed 2 iy
factual nature in Hindi and English Version of the question, the v G5 - R CIENUIEE R s
Enghish Version will be treated as standard. I Vq : t{m\;ﬁ“ 3 o
Warning : [f a candidate is found copying or if any snasthon zed e ;\; ﬁ;ﬁf Z?ET"’ -gm{»‘ﬁm q%ﬁw%ﬁ;@ A S A T
material is found in hisfher possession, ELR. would be lodged against ST S R SR W m‘gﬁ:;ﬁfn e, g sl & e
isa/her in the Police Station and he/she would fiable to be prosecuted R FE A ol m,@@%m iRl
under Section 3 of the State Preventfon of Unfair means Act, aﬁam: 1992 F Hr 3 i WW{ & e

mm“éw?? suddit ) wr d 9iE 0 el R i d A
il 9 & e ol 8 Rl o a9 B

Frdsr
99 B BT B o o w9 A wean g o o
LA S B el ol g i i & o
gy-mE QR O SUn AT IR @ g oF TE 8
ST QIR O ol UL, SRETRSINEE & ad ue wd
sl gu ¥ ol e Bl o v o sl T o ¥ g
ofEr & w1 T i E

e ]

T Ty qfaw 4 a5 95 7 4F 5® 5% 98 ¥ 910 / Do not open this test booklet untit you are asked to do

==

indiresult.in whatsapp - 9352018749

e+ ©



‘g indiresult.in whatsapp - 9352018749

AL

>
@lNDlRESULTE

YOUR SUCCESS PARTNER

1) Phenylketonuria is an autosomal recessive disorder of man. If the frequency of affected newbomn

% infants is about 1 in 14,000 assuming random matling, what is the frequency of heterozygotes 7
}L

1) 0.017

D

1) 0.017

2y 0.009

3) 0.018 4} 0.001

WA BEFRa T w o sHfdT TORET otowdr e ® 1 afe gud awfaa sasa frget &
g 14000 T ¥ u% & @ aniee g A g fawmgrtag ’

2} 0.009

T sl aar iy

3) 0.018 4) 0.001

2)  Maich the terms (type of inflorescence) in column I with their example (plant name) in column 11

and choose the comrect option -
Colunm 1

(a) Cyathium

(b) Verticillaster

(c) Hypanthodium

(d) Corymb
CODE : .
(a) )
1) (1) (v}
2) (1v) (311)
3) 1) (i)
4) (ii) (i)

Fiaq I

(2) AEURRM

(by #T®

€ (c) FEGETEgT

(dy glye
| (@) ()
ﬂ | 1) @ (iv)
2) (iv) (ii)

3 (ii) (1)
4 (ii) (iid)

YOUR SUCCESS PARTNER

4
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{c}
Gii)
(11}
(v}
(1)

()
(iit)
(1i)
(iv)
(1)

Column I

(1) Candytuft
(ii) Ficus species
(iii) Salvia

(iv) Euphorbia

(d)
(ii)
(1
(ii)
(iv)

2)  wfR 1% ol (YU NET) B &s 1A B 09 T Taew (uEy 4m) 7 gefed fif g

e

Fiad 11

(i) HErewe

(i) HEET A

(i1} Ffean °
(iv) iR

(d)
(ii)
1

(i)
(iv)
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3) Read the assertion and reason carefully to mark the correct option out of the options given below :

1) Ifboth the assertion and the reason are true and the reason is a correct explanation of the assertion
2) Ifboth the assertion and reason are true but the reason 18 not a correct explanation of the assertion

3y If the assertion is true but the reason is false
4y 1If both the assertion and reason are false

Assertion : Motor vehicies equipped with catalytic converter should use unleaded petrol
Reason : Lead in the petrol activates the catalyst

3)  Ty=fmier uss o SERUR (Assertion) & FF % 9L HIO (Reason) H1 FFTH B | UG B UM
H qe i A B o e 7 9 s g
2) TEEYE AT RO B WA § TR T Geds W HEl W W 3 E
3) UEwyd wil ¥ T # T #
4y TR S HEO EE T 8
S UH © TE EHE UEE AieY avedl | e vfed g e swm e wifEd |
FIO ¢ HHT g TS TORE E A 9 8 |

4y The most common HIV subtype in India is

1y © 2y E ' 3 H 4) D

4)  ame g HIV SuEn (99 erEa) gaiiees gy e o

Iy C 2) E 3 H 4 b
ey
o 5} Highly repetidve DNA is seen in -

(a) Telomere

{b) Microsatellite DNA
{c) Centromere

{(d) Cloning of DNA

o 1) (a) (b, () (d) 2) (a). (b) 3) (©), (d) 4y (a), (b), (¢
v indiresult.in whatsa - 9352018749
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(a) TN (oFaEs)

(b) eHegET 21 07 U

(¢) Freriar (qor fag)

(d) 1 TH U i AT

1y (@), (b), (c), (d) 2) (@, () 3) {c) (d) 4y (a). (b),{c)
6) Urea cycle and Kreb’s cycle are linked at :-

1} . Oxaloacetate 2) Fumarate 3) Arginine 4) Orpithine
6) gitar 9% Ud FE @ 9% 5 g5 § -
1) e 2) wWHTE 3) anfifE 4) srfom

7} A vector (cloning vector) 1s a carrier DNA molecule to which the human DNA fragment is attached
in DNA transfer the vectors used from smallest to largest is :-

1} Bacteriophage, Plasmids, BAC (Bacterial Artificial Chromosome), Cosmids
2) Cosmids, Plasmids, Bacteriophage. BAC (Bacterial Artificial Chromosome)
3) Plasmids, Bacteriophage, Cosmids, BAC (Bactenal Artificial Chromosome)
4y BAC (Bacterial Artificial Chromosome), Cosmids, Plasmids, Bacteriophage

7) HarEd (IR HATE), U 9 S0 U 0 AT € €, TP S A 31 UA U gl ai
fepar T £ | ST UF U RIEIRE00 6 AEG UEET HAEE 99T H gET 1R % 8T R o
1) Fosmoparst, sy, mvm(mwnmw) BIPAEY
2y by, wiiwgy, fREnEe, 4 0 q1 (FEheE S o)
3y wifingy, THEWEE, EEA &4 0 A (FEias $ET 1)
4y A oo (e ghm ), sy, wnirsa, D

8)  Choeose the elements name which have negative effect on flowering if their concentration in plants

is fow -

[} Sulphur 2) Molybdenum 3} Nifrogen 4y Atl of the above
§) I e B OAH T S ‘g‘ﬁw Rl 4 s e R E, AT wiedl § 3Ee WISl B A

1) meE 2) wifaree 3y HEsi 4) T

9y If a four nuclecude sequence code for an amino acid instead of three theoretically how many
unigue amino acids could be coded by such a system:-

1) 256 2) 128 3) 16 4y 1024 |
9 a%wﬁummmm%mmwmmﬁwr_ % FN & I 47 A iR B E ugad
2 91 TEiie B 9 3 e Fivre s o w5 B
o1) 256 2) 128 3y 16 4y 1024
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10} Human bramzﬁ Here intelligent than monkeys brain due to - ('7/’ INDIRESULTHE

1) More blood supply
2) Larger brain
3) Increased brain area compared to body surface area

4) "Increased convulsion

10) Wqﬁﬁwmws siterE glemm %»’G&«Q‘aﬁjﬁrnﬁn?if@wl -

1) e & @ gl
2y HiETE & ST &= EE
3) 91T TAE &G % g § ATESE AR ST g

4) aTtER U

11) Chemical formula of heroin (smack} is :-
1) C H,NO, 2y CH,NO, 3y € H NO, 4y C,H,NO,

11y feter (wr) &1 e O g
1) C, H,NO, 2) C H,NO, 3) C.H NO, 4) C, H,NO,

12) Pick out the correct statements:-
(a) Cuticle is absent in roots
{b) The stomata are more on lower surface of dorsiventral feaf
(cy Number of Xyt em bundles vary from 2 to 6 in dicotvledonous root
() The vascular (,ambztzm in a dicotyledonous stem is completely secondary m origin
1y (a), (b and (c) are correct 2y (a) and (d) are correct

3) (byand (d) are comrect 4} (a). (¢)y and (d) are comect

12) 78 wmuw gy -
(a) 5§ agfeaer Al #A 7
(b) Jeset aol H g Tl oA W oaias B E
(¢) feediousty gei & e gen AR 2 0 6 A £ 7
(d) Tedmeh a9 § doe ven saifd & @am 4 ol B B 2

1) (@), (b) & (c) 7T % 2 @ (T
3y (by 3T (d) 7T B 4) (), (c) 7 (d) T E

4
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13) Pick out the correct statements :-
a) The first hormone discovered was a substance named secretin
b) The adrenal cortex arises from endoderm
¢) Angiotensin II stimulates vasoconstriction, causing rise in blood pressure )
dy The posterior lobe of pituitary gland arises from pharyngeal epithelium as an invagination catled
Rathke’s pouch

1} (b}and (d) are correct 2) (b}, (¢) and (d) are correct
3) (a} and {c) are correct 4) (a), (b) and (d_) are correct
13) wd wue gy -

a) YUY WA T RHE e 8
4y I TRy o T9g ORI SOEA B U stde (gAfhas), B dh o o @t B @

1) (b) 3F (@) " & 2) (b). (¢) #F (d) el B
3y (a) 307 (0) T E 4) (a), (o) AT (d) I &

14) Read the assertion and reason carefully to mark the correct option out of the options given below:-
1} If both the assertion and the reason are true and the reason ts a correct explangion of the assertion
2) If both the assertion and reason are true but the reason is not a correct explanation of the assertion
3y If the assertion is true but the reason is false
4) If both the assertion and reason are false
Assertion : Cardiac muscle look like syncytium but histologically it is not syncytium

Reason  : Cardiac muscle fibers branch and interdigitate, but each is“a complete unit surrounded
by cell membrane with a centrally located single nucleus N

14) fesferfiaT g9 | UpYs (Assertion) % TaIe % q9ETE B0 (Reason) & JaeT & | U #1 T
7 93 Ar 9w B v et § 9 e geg
3) eERH HE E T E A g |
4y A AR EITO SN T © L
| T gl G Ay ST T S S 8 F Al e, wilve il 4 o, w5
@lNDlRESULTE
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15) Match the terms in column I with their description in colummn I and choose the correct option

Column 1
a) Bibliophobia
h) Limnophobia
¢) Pyrophobia
d} Gerontophobia

CODE :
(@) (b) ©) (@)
1) (iii) (ii) (1) (iv)
2) (i) (iii) (i1) (iv)
3) (i1) (i) (iv) (i)
4) vy (G @ (iid)
15) epfery 1 % grel o w1 H RS w0 39 o 8 galea S ag 99 e gibg
F 1 FiAd 11
(a) TR (1) 3= @ 9
(by Feraretamn (i) 3@ &1 wg
(¢) TR (ifi) FeFaTT F 9T
{d) FrrETTem (iv) QT 1 E
i
() (b (c) (dy
D (i1i) (i) (i) {iv)
2 (i) (i) (i1 {(iv)
3) (i1} (1) {iv} (1)
4) {iv) {i1) (1} {it1}

16} ¥ind the correct match:-

E a) Apoplosis
|
|

b)Y Necrosis

Cohmmn I
1) Fear of fire
1) Fear of lakes
i) Fear of old age
iv) Fear of books

1) Cellular contents leak out
i) Passive process
111} Plasma membrane intact

1v) Death of single cell

CODE
(a) {b)
1) (1), G (1), (1v)
2) (ii), (iv) (i), (i)
3) (i), (i) (i), Giv)
()y,0m), v (it)

YOUR SUCCESS PARTHNER
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16)  uE gufed & vt -
£ AT ; ‘”)\ -'flr\rw A?. F K T -] (=14 7‘”7 i 3
a) TIEHE 1) TRISTRE SAETA @ AT 3 |

B i) [t wlen
i) e Bed greT

b) ufrierE ivy A FifirEr @ A

-

BT

(a) (b
1§ (i), (i) (i), (iv)
2) (i), (iv) (i), (i)
3) (i), (iii) (ii), (iv)
H (1), (i), Giv) (i)

17y Which of the following is the most likely inheritance patiern in the pedigree given below:-
Cr -

]
I

!
—
T s B S o S e
1y Mitochondrial 2y X - linked dominsnt
3) Autosomal recessive 4% Autosomal dominent
17y a7 UE gurgell e § 2 0 e Wiew TR dunfy ase &
N -
! i
I
H o "
L4 ? ;
O -
1) HIEZEEIEE 2) X-@ gaE 3) AT s 4) b marE

18) Cell type which lacks HLA (Humar Leukocyte Antigen) is -

1) Red blood cell 2) Thrombocytes 3) Hepaiocytes 4) Neutrophil

18} =HifomeT ®1 W faad HLA (S =@Ermss Uera) & &0 &6 8 -
1) e = wfverr e 2y YrTATEE
3 e (F)INDIRESULTE 4 =i
indiresult.in whatsapp - 9352018749
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19Y Which of the following is wrongly matched in the given table:-

Virus Nuclic Acid
1y Pox virus ds DNA
2) Myxo virus cs RNA
3 TMV s RNA
4y Adeno virus ss DNA

19) Hr9 €1 w7 eferRT H AR (R T "l o g

1) uEp EETE ds DNA
2) e ss RNA
3 TMV ss RNA
4y TEMEETH ss DNA
b 20) Which of the following is wrongly matched in the given table : -
?ﬁf Lichen Forms of lichens
E 1} Parmelia Foliose
Y Cladonia fruiticose
3) Haemotomma Crustose
4} Peltigera Leprose
C20) A udy AR | e ATy T wEl a g
AT wEEA & TR
by e FHT AT
2) wasilEa pAtRaL|
3} femicmn FIETT o
&) T GIvI
21 Which type of microscope used 1o study of living cell
sy 1} Compound microscope 2) Oil immersion microscope
ggg““ 3y Phase - Contrast microscope 4y Electron microscope
B 21) A W an HETEl S AR F e 3 TRin M S w
ZA 1) TEE gEeEsl 2y o@ FEE geaEst
3y & EiEnE geEd 4) grEcH g

22) Example of nuclear stan 1s :-
L]

1) Eosin 2} Safranin 3) Haematoxylin 4) Borax-carmine

11
/C‘g INDIRESULTE indiresult.in whatsapp - 9352018749
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1) g 2) THFE 3) Femdifereir 4) s
23) Hematopoietic stem cells can be found in -

(a) Peripheral blood vassels

(b Bone marrow

(¢ Umbilical cord

I-) In (a) and (b) only 2) In(b)only

3) In (a), (b) and {c) 4) Indc)only
23) = W SEET g9 uE W wEdr § o

(a) IR T T
(b) s w=ar

(C) ?_‘(\ e~ j\"@

D Fae (@) A b) H 2) ®A (b) H

3) (a), (b) A (c) | 4) T (0) F
24) Which of the following is wrongly matched in the given table :-

Genetic code Amino acid

1) GCA Alanine

2 CGA Proline

3) ACG Threonine

43 GAC Aspartic acid

24) s 4 oy b § v WD T AR @ g -

AFATE %7 W =
1) GCA TR
2) CGA AT
3) ACG s
4) GAC Rt e e

25) A plant of genotype AABBCC is selfed. Phenotypic ratio of I, gencration would be -
I} 9:3:4 2y 34
3) 9:3:3:1 4) 27:9:9:3:9:3:3:}

25) ush UEn [AEE SF 9ET AABDCC ¥, H T RO B 9 F, 9 A e E
1) 9:3:4 2y 31
S 3 9:3:3:1 4) 27:9:9:3:9:3:3:1

#mpiresuLte indiresultin whatsapp - 9352018749
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26) Longest cranial nerve is -

DX 2) Vil 3) 1 4) 1V
26) TAEE A A e e E -
1y X PARRAL R) I 4y vV
27} Select the correct matching of the clotting factors and their serial number ;-
Clotting factor Number
1) Hagman X
23 Thromboplastin I
3 Christmas Vi
4) Proconvertin Vii
TSN ERE FHIH
1 EER X1
2) AT il
o 3) {FRSE] %t
4) WaETaE VI
28) Ex;‘zmg_}le of artficial auxins are -
(uy IPA
(b PAA
{0y NAA
(2457
() 24-D
b @ e 2) ) (c) ()
3 (@) G ) 4y {a) () (¢} (d) (e)
28y gl Sl ¥ TEET E - .
(a) IPA
(b) PAA
(cy NAA
(d)245-T
(¢) 24 - D
D (@ (@ (e 2) () (o) (e)
3y (a) (b) (@ 4y (@) ) © @) (&

@INDIRESULTE indiresult.in whatsapp - 9352018749
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29) What would be the number of chromosomes in the cells of the aleurone layer in a plant species
with 8 chromosomes in its synergids cell -
1y 32 2) 16 3) 8 4y 24

29) e urew, fowE wems @it (el S § 8 g ¥ 6 el e # et |
oL sl G A

1y 32 2y 16 3) 8 4y 24
30) Lateral root of higher plants arise from :-

1) Endodermis 2} Cortex 3} Pericycle 4y Epidermis
30) wE wEdl #Y uied g6l gHY IR B E -
D sfead 2) TFEe 3) ot 4y e

31) Consider a sphere of uniformly distributed mass of 1 kg/m* and radius I m. Its moment of intertia
about one diameter is :-

1) 033 kg m? 2) 0.50 kg m? 3) 1.40 kg m? 4) 1.67 kgm’

31) 1 fopars W3 & WA ®Y ¥ AR e o | HL B B e #1 qeun #a | v %
ariey THE TS S0 §
1) 0.33 fepmn/ w12 2) 0.50 fFw/ W2 3) 1.40 faEmr/ o2 4y 1.67-Fm, w2

32) Consider a circular ring of mass 1 kg and diameter 0.2 m. It is making 10 rotations ver second about
an axis passing through its centre and normal to the surface. The value of angular momentum is o~

1) 2512 kg misee 2y Odkg mifsec 3y 1.256 kg m/sec 4y 0.2 kg m¥sec

32) | e, sEMM AF 0.2 . @ F U JHEE 49d 3 A9 B | 996 FS T I 9 A1 a9
F AT U e A AR 10 TR U A2 &1 Y 9 YU %Y TR 2 | O FE O A

1y 2.512 T, 2) 0.4 fam 2.
3) 1.256 R AT/ 4y 0.2 ThmALYA.

333 Arod of length I and uniformly distributed mass m per unit fength is undergoing rotational motion
about a perpendicular axis passing through 1ts mid-point. I the angular speed of the rod changes
from { 1o win t secs, the applied torque is -

D mFPe/(2y 2y mifa/ 12y 3 mF e/ (31 HmPo/3

33) | wparg #f T BY A BT m R g @ET F eaWE o1 UF B2 9T Uy i i gwrd

"D mP e/ (121 2y mPao/ (124 3y mFo/ G 4y mP w3

6{/,) INDIRESULTE indiresult.in whatsapp - 9352018749
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34) For a perfect gas the specific heat at constant pressure C_and that at constant volume C, are related
as i- ' -
) C,=C, 2) C,=C+R 3) C=C-R 4) €, =C +logR
34) e aast g % T Rad A W fEiie wen O SR Mo s 9 R awn ) 38 e
TEfeE ¥
1) CF = Cv 2) (:;1 = Cv+ R 3) Cr‘- = (T\-‘“ R 4) C:%" = C’”% IOg R

35) Efficiency of a reversible heat engine working between a sink at temperature 30" C and source at
temperature 90° C is -
13 2) 213 3y 20/121 4y 107121

35) 30°C Ay % w2 (Fie) fir 90°C A % v =R B 9sd el v s e g o auen &

1 /3 2y 273 3y 207121 4y /121

36) In adiabatic expansion of a system in which its temperature changzes from a value T 1o T the

entropy will :

1) Increase

2} Decrease

3) ‘Remain unchanged

4y May increase or decrease depending upon the ratio T /T,

= o~ sr
g ) T

36) s R & wEy e 9 R TAe A T AT, W 9EeE 7

1) =
2) =l
"3) T AEen

4y Fgaa T /T, © Feiv/ae a0 2 0 we v E |
: 2

%INDIRESULTE indiresult.in whatsapp - 9352018749
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37) A body executes simple harmonic motion. Choose from the followings the correct graph representing
relationship between the Kinetic energy, B, of the body and its distance from the centre of oscillation:
Bk

Ex
b 2) i\
Ol Distance . Ol Distance
, 3) 4)
h
o} Distance ol Distance

37) ue vz wre wradl v S R | R A 9 v Es T B, o SFA & e A Shal gl &
wi gy TN T 9 e ST o T i

Ey Ex
, ~ [e}] éjf
o
' /f e
e e
G g . o Th

38y A verbical spring is suspended from one end and carmies a mass of 1 kg at its lower end., It is made to
oscillate in vertical plane. Amplitude of the oscillation 15 8.1 m and at t = 0, the displacement is
(.1/+/2 m. Taking the force constant of the spring as 10 N/m and assuming the frictional forces to
be zero, the refation between displacement and tme 1s:

[y x=(0.1/J2)sin(m t+7/2) 2) x = (0.1//2)sin(nt + )
3), x = (0 sin( e+ w/2) 4y x = (0. Dsin{nt+7/4)
Y,
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et & At fban o ¥ | e o1 ST 0.1 41 % S W o= 0 W fam 0.1/42 W E B
T Fore (10 el W9 B0 SR U gw w5 9 990 80 Ty, of Thg % we wee T

1) x=(0.1/2)sin(mt +7/2) 2) x= (0.1 Dsin(nt +/4)
3} x=(0.Dsin{nt+n1/2) 4) x = (0.1)sin(mt + n/4)

39) A2 m long weightiess spring having a force constant 25 N/m hangs from ceiling. At its lower end
is suspended a mass of 1 kg. 1 it is pulled down by 10 cm and released then the kinetic energy when
the spring has moved 5 cm up is:

1y 0.125 Joule 2y 0.0312 Joule 3) 0.0624 Joule 4) 0.0933 Joule

39) 291 mmw%%mwﬁmmww T B H Wewndl ool o e i w
1%&5%}%3@3@?{%%3%7\“0@ A1, A ErawT e B W o we i s AL W s

off gebl 2101 & 98 THH AT HAl 8
) 0.125 7+ 2) 0.0312 5@ 3) 0.0624 T 4) 0.0938 Fe

40) A body is undergoing simple harmonic motion with frequency ®, and an oscillatory force of frequency
 is applied on it. Damping constant representing the damping force is b. Consider the following
statements regarding resonance condition when the amplitude of oscillation is mnaximum:

i) It occurs at @ = m, for all b values.

i)l oceurs at o = @ only for b=0. -

iii) It occurs at w < o, for non-zero & values.

iv} H occurs al o > @ for non-zero b values.
Choose the correct statement from the followings:
1y (i) is correct.

AN ity and (i) are correct.

3} (i1) and {iv) are correct.

4) Noue of the four is correct. Resonance always occurs s, /2

40y Tavs o, sl W EE S i & TR R AP T W o g U SRR e SR E
waTE v F R B T R RS b | SR A e, We S B AEE
AT 2 B, % wed § M sge o e @i

D b % A AAF T A o=, 9 97T B R
i) FF b =0 F T 78 0 =0, W qET T |
i) b % 7 9 wEl & W ¥ o <o, T 9 5 L
iv) b F -9 T & 4R o> o, 97 afed 2 e
1y () = ® indiresylt.in whatsapp - 9352018749
2) (i) 7 (i) =2 (' ,
. (@)NDIRESULTE
4y Trl 4 H i A8 2 | SR 6E o =o/2 T akd 89 R |
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41} Ata certain point two waves create pressure variations as p, = P sin (2 vt) and p, = P sin 2% (ut-@).
Amplitude of resultant wave at this point when @ = Y415

1) 2P 2) p 3y pv2 4 0

A1) o me forg w2 & A e 9 p, = Psin (2 7 p, =P sin 20 (ut-@) T FH | 9
o =14 & 71 2 [Eg o ufondy g emam ¥
1) 2p np 3) PY2 4) 0

42) Intensity ratiol /1 inapatiern produced by interference of two coherent light sources of intensity
1000 and 1 is

1) 101 99 2) 11:9 3) 121: 81 4) 10 1

42) 100 7 | e F 9 w0 g9 wEdl vl & aftedo g senEa w4 dma e
Ieﬁwflqma L
1) 101: 99 %) 11:9 3) 121 81 4) 10: 1

433 Two trains are approaching each other with a relative speed of 50 km/hr. Engine of one of the trains
whistles at a frequency of 100 Hz. Apparent frequency of the whistle heard by a passenger in the
second train, after the trains cross each other, will be:

1) 91.9 Hz 2) 108. 8 Hz 3) 737 Hz 4y 152 Hz

43) g yermfent uw-gEY @ A7 50 fp/Ee. & oAnd e 0 s T E | g A TE W S 100
FEF & AT I A TR T | RN B UE-GHY B UE AN W, T TeE] § 0% anll
1y 919 Hz 2} 108. 8 Hz 3y 737 Hz 4) 152 Hz.

44y Distance between the electron and the proton in a hydrogen atom is about 0.5 x 107 meter. Valiie of
coulomb force between the electron and the proton is:

13 9.2 x 107 Newton 2y 9.2 x {5 Newtor
3) =9.2 x 10-* Newton 4y 9.2 x IF¥ Newton

-

44) T TEEER T W TR AR e B A @1 AT 0.5 x 100 e B gmsre il Wen ®
oy FHATT g H HE € ‘

1) 9.2 x 107 Zea 2) 9.2 x 107 e
3) ~9.2 % 107 e 4) —9.2 x 10" e

45} Total charge on a sphere of radius 10 cmis | micro coulomb, Maximum electiie tield due to this
sphere 1s ¢

1) 9 x 107 Newton/Coulomb 2} 9 % 10° Newton/Coulomh

33 9 x 107 Newton/Coulomb 4y 9 x 10¥ Newton/Coulomb
L
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45) 10 A4 FBrow % um N T FA AW | AEH FEE £ | 29 T & 2 sl fga s g

1) 9% 107 =ges / gers 2) 9 x 10° =ET [ e
3y 9 x 10° e | Fwrg 4) 9% 10" =T [ Forg

48} Electric flux entering a closed surface is 2x10° Neuton-m#/Coulomb and the flux coming out from
the same surface is 8x10° Neuton-m*Coulomb. The value of charge inside the surface 1s:

[y 0.106 micro Coulomb 2) 1.06 micro Coulomb
3) 0.53 micro Coulomb 4y 0.053 micro Coulomb

46) U W T H YAy B AT (SEH RERT &1 A 2 x 10" SES-aR e 8 S 20 g § ane? o
T R A 8 x 10° YEF-HR/FAME E | 4SS % 38 Ee H A E

1) 0.106 TEE FET 2) 1.06UEE TETS
3) 0.53 W Fwr 4) 0,053 IEE! Fer

47y Consider two paraliel plane surfaces with equal but opposite charges. Choose the correct statement:

1} Resultant electric field between the planes is 6/¢, but outside the planes it is zero
2) Resultant electric field between the planes is 6/2¢, but outside the planes it is zero
3) Resultant electric fieid between the planes and also outside is 6/,
4) Resultant electric field between the planes and also outside is 6/2¢g,
47) v yie faude smasi o 51 JEE AR 9N el SEeron #i | gh eu g
1) wEEe % e a4 ofe, § W WAl & AT 9E R E
2y TAHA % qey GO R A9 of2e, ® g ST F 48T 9% 9 7
%) HOEE % He Y arEd |1 vl fBEa g ol 7
4y HEHET % Te A AT 91 AP0 EEE 6 of2e B

483 o rhe following circuit, assuma.point X 1o be at zero potential. Choose  the correct option for
potential at point Y (internal resistance of the cell 15 negligible):
©

Ay

1A 2
F = ¥

4 ; B
#)NpiREsuLTE L

R
R T R1

1w 24

>
i
_;.,

iy 3V 232V 31V 4y Zero Volt
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48) e ulvay 9 fasg X o o v v i (T Y w0 fase o T =@ e g (99 a1 il
iETe qey E 1)

1A 7 2a ij- Ly
e
R 252 R1
x P 2
1) 3V 2) 2V 3y 1V 4) 90 TR

49)  In the following circuit the resistance R isunknown and R _ can be varied. When R is 12 ohms,
there is zero current through the ammeter. The unknown resistance R is:

G
QVf“f Ammetar
A B
Rvar Ry
3] -
R 2) 075 3) 300 4) 48 Q2

49) rqu TTTS H UPTE R CAENE B AT R FEeT N AEAI E | AG R 120 BT E Al A i a1 4
FTEA AT R =

) . C
|
J (o
gV-_a. E Ammeter ;
$ Rvar
D
1y 158 2y 0758 3y 304 4y 48

indiresult.in whatsapp - 9352018749
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In the following meter bridge circuit. balance point is obtained at J with AJ = L ¢cm. When the
values of R and X are doubled and then interchanged the position of balance point is.

18

2} Lom 3y (L - 100 cm 4y 2L.cm

50) o diez-ag 9fvgy | e B 0 A = Lom, W0 2R | g R #P X & AW g w5 R

T ¥ A O g gy gew e T g dgen feg @ fafr g

¢
H
b R X
5 A N
3 T
& G
‘ I
. A T —wm-wivJ B
] 1
+I L
B} {3 (100 - Ly # AL 2) LA 3} (L - 100) &A1, 4y 2L AT
5i) Inthe following circuit current is flown through a cetl of 4.5 V {with negligible jnternal resistance).
When another celi of em{ E is connocted across resistance 3€2 there is no change in the value of the
current. Vajug of E is;
“ 45Y
ey
[
I
[
\i/
1 26 30 40
e AP AN
1 © t S o P:__j
B c
1y 43V 2318V Hiov 4) 30V

ik

o
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51) ﬁqwﬁwWWMVas@m(quﬁwsmo)xwmmﬁ%ﬁﬁﬁ%l?ﬂférga
aEF a9 E & U §HY He 0 3Q e 97 S SR 8 A 9N % AW § 6 uivadd qe i E

E & " € :
45V
e
/]
5 20 30 40
‘ A AN AW
b
‘ E
1) 45V 2) 15V 3) 10V 4 30V

52) Necessary condition for obtaining an interference pattern when light waves (of same frequency)
from two points S, and S, superpose is

Intensity of two waves Phase difference between the two
waves at S, and S, must be

1) Must be equal Zero

2y Must be equal - n

3y Must be equal Constant with time but not necessarily zero
4) Need not be equal - Constant with timie but not necessarily zero

52) T E AT S, A S, Tﬁ"fﬂ?«f TE (T AT #) eRtet AT I B4 ¥ | AT et gy
UT #7 E ??;*ﬂ AA5TH 9 &

A 7 F A S, dF S, W A g5 F w9 FA G AR
1y HHIH BRIl HES: N 9T
2y AT FET @G e g
3y TEE AT A g F A AT Ty EvEs =Y 7 9 98
- 4) A EET amEGEE T TEHY F WA G W STgyas By 4 9 98

53) Consider diffraction of light from a single siit. Ratio of the intensity of central maximum to that of
the first maximum lying on either side of the central maximum is

031 2) 911 3) 25:9 4y 1:9

53) e v fete Tl B TR ) s it | e shee & dem e e i v
e ues et wm ATl w1 A

1 3:1 2y 91 3) 25:9 4y 129
J‘ indiresult.in whatsapp - 9352018749
(#)WoiResuLTE .
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54) Refractive indices of glass and water with respect to air are 1.54 and 1.33 respectively, Polarizing
angle for a beam entering from glass to water is

1y tan’' (1.54/1.33) 2) tan” (1.33/1.54)
3) tan’ {(1.54-1)/(1.33-1)} 4) tan” {(1.54+1)/(1.33+1))
54) g % AE E S T F SR FG 154 133E | FE 8 S W 9991 B T 0 g
& [0 g i 7
1) tan' (1.54/1.33) 2y tan' (1.33/1.54)
2y tan’ {(1.54-1)/(1.33-1)) 4y tan® {{L34+DI1.33+ 1))}

55) Letthe focal length of an eve-piece be 2.5 cm. For a telescope of magnification 100, the focal length
of the objective should be:

1}y 250 em 2) 40¢m 3) 25 % 107 cem 4y 100 cm

. 55) ﬁc}aﬁ%ﬁﬂ%@”iﬁﬁqﬁq LA i (ATTEEe) 100 %1 Uk ged & fou
sf¥geg @ # ERd g 2T AR

[U——

B XY

1) 250 H.HL. 2) 40 H.I, 3) 2.5x 10° HHL 4) 100 FA.

56) lonization encrgy of the electron in Hydrogen atom is 13.6 eV. For electron in deuterium atom it is
1) 13.6eV 2y 68eV 3) 34eV 4y 272 eV

56) EREME TH Y SRS H AEAIET HAT 3.6 eV F | =i wany | T & T AR T
1) 13.6eV 2) 6.8eV 3) 3deV 4y 272 eV

57y According to Bohr model. the orbital anguiar momentum of electron in the orbitn =2 is
I} h 2y hi2n 3) hin o

ST) AT AfEd T OAFAT TAGC F1on =2 B H B B0 AT € )

1Y h 2y hi2n 3 hn 5 ;1/4;:_"

58) Radius of the Bohr orbit for n = 2 state of witium (1°) atom is

) 053x10%m  2) 212x10m  3) 027x10%m  4) 0.13x10™m
58) fegmad (T azamg 1 n =2 SEl ¥ fan A e 8 e i

1) 0.53 x 107071, 2) 2.12 % 107 3) 0.27 x 1070 4) 0.13 x 10795,

59)  Giventhat masses of neutron, proton and helium (,He?) nucleus are 1.008665, 1.007825 and 4.032980
(all in amu) respectively), choose the correct statement from the following
1) Removal of a nucleon from helium nucieus gives at an average 7 MeV energy.
2) Average energy required for removing a nucleon from helium nucleus is 7 MeV,
3) Removal of a nucleon from helium nucleus gives at an average 14 MeV energy.
Q INDIRESULTE 4) Average energy required for removing a nucleon from helium nucleus is 14 MeV.
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59) =g, fier alr Efed (He®) i {0 semm 299 1.008665, 1.007825 37 4.032980 (T4
amu 5 BF go ¥ P 90 w8 we g
1) dferre e § 4 ve EE FU 1 FEEE W SEE 7 MeV ST e 29 E
2y Eifrm FiE § § s TEEE F07 H MEEH % 0 aiEER 7 MeV S # ATaggE s gl
3) Fiferm i § F wp AEE F0 B R W e 14 MeV S are 2 g
4y e S 4 o A F0 T e § A e 14 MeV m wl Ayl A 2

60) U undergoes nuclear fission as follows
n+ U — Mo™+ Xe"+2n
Energy released in fission of 1 gm of U is {masscs of n, U™, Mo™, and _ Xe'*®are 1.0087,
235.0439, 97.9054 and 135.9170 (all in amu} respectively)

1) 5.06x 107] 2) 5.06 x 10710 3) 81x 1071 4y 8.1 x 10"

60) U oy witebr ferds T g £ E

ZER OR 136
n+ U - Mo®+  Xel+ 2n

1, U 3 fade @ e 29wl BH1 2 (0, U7, Mo 31 Xe!™ & s 9st 1.0087,
235.0439, 97.9054 7 1359170 (A4 a.mu. H 8)) -
1) 5.06x LO¥FA  *2) 5.06 x 1075 3) 8.1 x 10757 4) 8.1 x H00E

61} Consider the following as a possible nuclear reaction
- H+ H*— He'
Given the energy per nucleon of the H- and He' nuclei as 1.1 MeV and 7 Mev respectively. choose
the correct statement
1) The reaction is not possibic
2} The reaction can oceur if JH nucler are given a (otal of 23.6 McV energy.
3) The reaction occurs wilh a release of 23.8 MeV energy
4) The reaction occurs with a release of 23.6 MeV energy
61) ffaiaa A e a9 HEe R
Hi+ H>-5 He'
frs g3w & A% i wid i F W WA He' WE F WU L) MeV ST 7 MeV WL 2 | 78
e G
1y Fpar gaTEd 9E F
2) fam & W B W W e 1 g@ 23.6 MeV Fat & T |
3) fagan | 25.8 MeV 5l SwfAa 8141 2
o4) TEET H 23.6 MeV Tl 3@ B 7
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62) In the process of formation of a p-n junction which of the following is true:
1) Diffusion does not take place
2) Diffusion of electrons and holes goes on miinitely
3} There is zero electrical potential across the junction

4) Charges establish an electric field across the junction

62) p-n A E T 0 i H e d A wmnowdi R
1) verer 4 der @
2) TR Ud B Bl WO AW B 8
3y dftr % sprur foem AWT ofg B #
4) A % amar AEe uE e @ wenfia e ¥

63) 1In the following figure it V= 0.2V then [ will be:

10V

4.7 kG
—o Vout

Vi E’SC = 200

1y 0.050 mA 2y 2.085 mA 3y 2,130 mA 4y 1.065 mA

10V

o 1) 0.050 el u. 2) 2.085 e U, 3y 2.130 fstr o 4) 1.065 fidr o,
C-.'f//;!lo\!pslﬁl;§gg§ indiresult.in whatsapp - 9352018749
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64) The circuit given below represents a logic block diagram for the gate:

s o>
B
%J___IDAW-C
1) OR 2) NOR 3) NAND 4y Exclusive OR

64) Frr S 9y 39 B¢ % 9% - ©F S & R &

rA

S

A

B /) L

¥ 1 >—c
1) OR 2) NOR
3) NAND 4) Exclusive OR (ToFERIEE OR)

65) A 5:1 wransformer is connected to a half-wave rectifier circuit with a 50 k€ load. Input voltage is
220V .1, will be:

1y 280.1 uA 2) 440 pA 3) BROuA 4y 44 mA

65) T 5:1 F SETERT UE I gl % qivay 1 g2 & G S0 kQ w1 @ 7 | Al deea
220V, El L, 0

[) 280.1 5wl U, 2) 440 T T 3) 880 Al T 4) 4.4 T U
66) Which of the following sets of quantum numbers is not permissible -

Iy n=3, =1, m=+3 2y n =3, I=1, ni=t+1 3y =3, L, =) &) =3, =2 m=-2 .
66) Tt H T wared WENHA B EFEH AT R HE E -

1) n=3, =1, ;=3 2y n =3, k=1 =l

3) n=3. =0 m=0 4) n=3, =2, m=2

67) Which one is correct statement
D LK and | ca® are Tsobars 2 _cPiand el are Tsotopes
3) oxe'“and  Ba'are Isobars 4y All of the above

67) fae 8 91 we iy % -
1y K¥TE ca® (Isobars) HEHIT Z
2) 1N U ol (Tsotopes) T %ml
3) Stj‘xel'*”’iiﬁ Bat (Isobars) FoE 2 |

.é‘ 4) =odiE JH indiresult.in whatsapp - 9352018749
(#)NpiREsuLTE
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68) Electronic configuration Is? 2s* 2p * 2p * 2p "is not obeying the law -

1) Pauli’s exclusion principle 2} Hund’s rule
3) Anfbau rule 4) Bohr-Bury’s rule
68) eataETE fammE 187 257 2p 7 2p 2 2p, T Tum @1 U TR EI B -
1) oftd 1 AT fr 2) 28 & Fam
3) & o 4y grrady # Mag
69) Which one of the following is correct outermost electronic configuration of most electronegaiive
element -
1) ns’ np’ 2) ns*mp’ 3) as’np’ 4) wns’ np®

09) G § 7 Fmen Fearg waifs g w0 weang @ ¥ -

" 1) ns®np? 2y ns? np? 3) ns?np’ 4y ns’ np®
70) The magnitude of successive lonization potential of an atom increases due to increase in
1) Effective nuclear charge 2) lonic radws
3} Number of electrons 4} All of the above

T0) foped w] % 21 w0 G fasa & WA 9 9fe A 0 BRE A gfg & e Ee E -

1) T FEEE ArEe 2) AEEE B
3) gl H HEn 4y TITE A

71y Which one is interstitial hydnide :-
D L 2) PH, 3} CuH 4) CaH,
TI) fg § F s enEEE B o
1) LiH 2y PH, 3} Cull 4) CaH,
72) Why gypsum is added to cement -,
1) To make cement light coloured
2} To slow down the process of setting of cement
3) To obtain shining surface
4) None of the above
72y e § TAe w o e A E
1) T 1 e EH & fEn
7) HEFE & T @f U & G w5 %
3) EHHET HAE WA &7 % fe
4) THRE H ¥ BT A

C:’;”J‘lNDlRESULTE indiresult.in whatsapp - 9352018749
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73) Which one of the following is acidic in nature :-

i) Al (OH), 2) Mg (OH}, 3) Be (OH), 4) B (O,
73) T H F b ue SveE B E -
1) Al (OH), 2) Mg (OH), 3) Be (OH), 4) B (OH),

74) Silicones are the polymers of silicon. The chain length of polymer can be controlled by adding :-

1) (CH,),Si 2) CH, Sicl, 3) (CH,) Sicl 4) (CH,)Sicl,
T4y Taemte, FTIwEA & 950% o0 F | GENE 4 SEe & e #1 fr § 8 TR Taener Mot e
1) (CH)Si 2) CH, Sicl, 3) (CH,)Sicl 4) (CH,Sicl,

75y The most commonly used reducing agent is -

1) Snci, 2) Snct, 3) Pbel, 4) Alel,
75) g gAnT H TR o arel IR B -

1) Sacl, 2) Sncl, 3) Pbel 4) Alcl,

76) At a particular temperature and pressure, the solid and liquid phases of a pure substance can exist in
equilibrium. Which of the following defines this temperature -
1) Melting point (normal)
2} Freezing point
3) Boiling point
4} Both melting point & Freezing point

76) ferdt fldse A9 vd argEveeE e @, B TE w1 Sm v ga wenend w98 wed B ) e

1) TEHE (AT 2) feuts
- 3) FEIE 4) e ud fraie g

773 Which of the following are equal for a chemical system at equilibrium?

1) The concentration of reactant and products,

2} The rate of the forward and reverse reactions

3) The rate constants for the forward and reverse reactions
*4) Both2 &3

@lNDlRESULTE
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7T T TEEtS 99 % graTEen § B U W ¥ ¥ s g B -
1) TrameRsl Ud IEmE & Al
2) a3 oAfle vd gl siakemal @ 3
3y 37 U WA Atieme & 9n Faae
4) TUIRE 2 UF 3 aFT

78) By the addition of Ar gas to the system 2HI2H, + 1, the degree of dissociation of HI will be - |

1) Suppressed at constant pressure and constant volume both
2) Increased at constant pressure and decreased at constant volume.
3) Decreased at constant pressure and increased at constant volume.
4y Not altered at both constant pressure and constant volume

78) 2HI=H, + 1, 37ilRar 4 Ar T e @ HI &t {gamsa
1) o o9 vg Re aveas SF @ A SR
2y Fer? Z/@ w7 O STelE Ry ST W R e
3) o e/ W @ B Falh e smEen W oge |
4y Tem T g e o el O aeiiEa e

79) While analysis of 11 group radicals H,S is passed in presence of HCL. Why HNO, or H, SO, not
used instead of HCL.. '

13 These acids oxidizes hydrogen suiphide to sulphur )
2) These acids are weaker acids than HCL

3} Use of these acids may precipitate sulphides of group Hl & IV

4y All of the above

79) TEAR HHE % geent B [Feun g R HCL @ Tl 9 HLS T weEiee ﬂﬁrﬁw | 4 HCL,
%’WWBNO a1 H 50, TR ETE N

1) T 3P RS OFREE & 9FF7 H SiEigd £ 59 E
z)ﬁHCLEﬁWﬂgéﬁ-%I
3) B9 @ 8 I " IV gyEl % AveEs 9 gaaien B ae 2|

4) IERE 99T

80y The compound whose aquous solution has lowest pH

1) NaNoO, 2) Na PO, 3) NH,CL 4) K,S0

4

80) fpm o T A % =i Taeras 91 pH =W 2°0 -

J 1) NaNO, 2) NapPoO, 3) NH,CL 4) K SO,
(.‘, INDIRESULTE indiresult.in whatsapp - 9352018749
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81) The solubility of Ca, (PO,), in water is x moles/litre. Its solubility product is

i) 36 2) 108 &

3) 64 5 4] 6

1) Cu, (PO,), 1 71 § femman o aw/sier ¥ | 2ot fasiae qures i -

1) 36X 2) 108X
82) Which one is incorrect match :-
TITRATION
1) Strong acid v/s strong base
2y Weak acid v/s strong base
3) Strong acid v/s weak base

4) Weak acid v/s weak base

82) =1 9 A e e A TR E -
1) e 8 UEE
2) AW # T S &

i 3) W& #% 9 gdd v

4) W 3 T gE @

3) 64 4) 61

INDICATOR

Phenolphthalein & methy] Orange

Phenolphthalein

Methyl orange
Methyl Red

LSEED

femadeir v o P
EEEEORic

83)  Critical temperature of a gas depends upon the magnitude of the intermolecular forces. Following

are the critical temperatures of some gases-

H_(33.2K). CO, (304.] K). NH, {405.5K). O, (154.3K}

What would be the order of the tendency of liguification of gases

1) H,>0,>C0,> NH,
3) NH,>CO.>0,> 1

2) H.>0,>NH,>CO,
4) NH.>CO,>H,> 0,

83) oy T ol FUAE AN, THE AT B A WE B G T T g9 @ 9 O Y e

2| %W A F FiaE A9 AT g9 T E -

H, (332K}, CO, (304.1 K), NH, (405.5K). O, (154.3K)

% T 6 FETEIS B WA B HH AT -
1 H,»0,>C0,>NH,
3 NH,>CO,>0,>H,

2) H,>0,>NH,> CO,
4 NH,>CO,>H.> 0,

84} A gas is filled in a cylinder at pressure P. choose the correct statement -

1) Pressure would be 3P if we triple the kelvin temperature at constant volume.

2) Pressure would be P/3 if we reduce the amount of gas by 1/3 at constant temperature and volume.

3) Pressure would be 1.8P if we decrease the volume by 45% at constant temperature

4y All of the above

>
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84) =@ P u? fiersy § U% A 99 g B | R 0w a| s g -
1y o angee v dfve a9 1 TR 5 W R 3P ¥ S
2) Terv apmerd v A 9r T S v B v R weS uv g B3 s |
3 Tep M w e ® 45% S T 8 L8P B A i«
4 s a9l
83} What are the relative rates of diffusion of lhc: three naturally occurring isotopes of neon
“Ne, “Ne, #Ne
1y “Ne¢ > ""Ne > *Ne 2y #Ne > Ne > #Ne
3) #Ne > “Ne > *'Ne 4) *Ne > *Ne > *Ne
“INe, “Ne, “Ne
1y ®Ne»"'Ne > *Ne 2) *Ne > *Ne > “Ne
3) PNe > “Ne > ¥Ne 4} UNe » “Ne > *Ne
86) With the increase in the temperature of a liquid -

1) Surface tension increases and viscosity decreases

I~

y Surface tension and viscosity both decreases

[

} Surface tension and viscosity both 1acreases

.

1 Surface tension decreases and viscosity increases

86) T 39 & AY B gl wed W -
1y T T R AR AUl SR H RN AT Y

2 U AN A AT S R OEAT AT E
3) U A UA SO AT 4 OYiECEAT 2

4y G FAE F FE AT s F gfg A e
873 AL 293k viscosity of which hqud 1s maximum?

1Y Water 2y Meroury 3} Bther 4y Glyecerine
§7) 293K A9 ¥ R 9 T A 39 F SIS BET -

1y A 2) HEH 3y T 4) FeAre
88) Which statement s incorrect :

L) More volatile liquids have higher vapour pressure

2} The rate of evaporation increases with increase in temperature

3y The vapour pressure of the liquid decreases with increase in temperature.

4y Dimethyl ether evaporates at faster rate than cthyl alcohol.
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88) fomy o § wH HU T - g
1) eferss aToasTier BT R AT ZTE SiEE B € Cz?/g |ND|RESULTE
2) @9 H gfg & e gndiere ) 2§ o gl A R

3) A F gig & A sdi w5 ar 5 e B 2
4y BEATEE g9, ufdE vvmEiE & gear 4 oi Ao 2 E

89) Example of molecular solid is
1y Sulphur, S, 2) lodine, I,

3) Both sulphur 5, and lodine, I, 4) Germanium Ge and sificon Si

89) anfuers 214 w1 TEEIO € -

1) @, S, 2) HEEH, 1,
3) AR S, Ud MEEH 1 2 4) R Ge vd Ffes SidF]

90) Which of the following match 1s incorrect

1y A grey. lustrous solid, melting at 1495° both solid & liquid are

electrical conductors ' - IODINE
2} A very hard, black solid. subliming at 2700°C - Sic

33 A white solid, meilting at 613°C, solid 15 not but liguid 15

electrically conducting - Licl
4y A yellow solid with a characteristic odour having a meltng peint 120°C - CHI,
90 ey W oW FEar e gA4 w8
|) WL SHEET I, TE 1495°C, &M Ud 34 3R A 8 S
T o1 AT - IODINE
2) aF wor, B A, 2700°C T TEUET - Sic
3) #EE ITE, TS 613°C BF YA w1 AN FT 2 99E] O e - Lic)
4) @ am, [l gy e 120°0 - CHI,

91) Which of following compounds shows both Schottky as well us Frenkel defect -

. 1y Aghk 2y AgBr 31 Agdl 4) Nacl
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91) ﬁmﬁ.‘% ‘;‘ = jgmqa‘ -\1-\ mmmm%- /y‘, YOUR SUCCESS PARTHNER

1)y AgF 2) AgBr 3) Agcl 4; Nacs
92) 1.135m sotution of KBr in water could be prepared by dissoiving :-
1) 1.190g of KBrin 1 L of water

2) 1.135g of KBrin 1 L of water
3) 1.135 mol of KBr in 500g of water
4y 1.135 mol of KBrin lkg of water

92) KBr & 1.135m FEea g9 5 9% § -
1) 1.190 W™ KBr @i 1 @le7 Sl | 916 &7
2) 1.135 a4 KBr &1 1 ®icy 7 ¥ 99 &7
3) 1.135 9 KBr %1 500 U 3¢ 5 =i %7
4y 1.135 #et KBr %1 1 f6on @1t 5 €1 %9

93) Choose the correct match of items given in column I with the type of solutions given in column Il
COLUMN I COLUMN 11

1) Carbonated water - asolution of solid in liquid
2) Gasoline - asolution of gas in liquid

3) German silver - a solution of solid in solid

- 4) Sea water - asolution of liquid in Hquid

93) @iy 1 ¥ feu My srgew vd dfem T 9 Ty a0 el @ wsmr wm wE e gl

r

FIH 1 Fo 11
1) g - Z o gA b T
~ 2) T - T T W e
o 3y s faees G AR R |
4) T T - B eE | [geuH

94) Colligative properties of a solution depends on the -
1) Nature of solvent particles.
23 Number of solute particies.
| 3) Nature of solute particles.

4) Physical properties of solute particles.

94) Tt faeaw & surder Tored T w E -

1) femta® w0 B UEa T 2y T o w5 den or
"\ 3) e wn A v W 4) farg il % Sif o v
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953 In the first step of following addition reaction intermediate Z would be

CH ,~CH=CH,+H" = Z
1} Sec-Carbocation 2) Pri-Carbocation
3) Sec-Carbanion 4) Pri-Carbanion
95y s & R v cfulear & v 92 H megadt Z e -
CH,~-CH=CH,+H" - Z
1) TadE wElEe A 2y mufe FEEY S
3) EEE FEEEE 4) ureriyes et

96) Tautomerism is a special type of

1) Chain isomerism 2y Posiion isomerism

3) Stereo isomerism 4) Functional group isomerism

96) FEIFIFT UE 9T dEmT #5 -
1y o ey ¥ 2) fufa mEEgaar €

4) Thurwe wHE FHEEE E

3) =iaw aawegE &

97y The following reaction i a tvpe of .
CH,CH .Br+aq.KOH — CH,CH,OH + KBr
1y Addition reaction -
2} Nucleophilic substitution reaction
3) Electrophilic substitution reaction
4y Free radical substitution reaction
O7) Fra1 N T T B -
CH CH . Br +aq.KOH —» CH ,CH,OH.+KBr
1y amms AT @
2) =ww =E ulpame stalear @
3) AR R Wi SRR
4) TFEEE A At w5
98) How many moles of Co, will be formed hy the combustion of 1 mole of alkane, alkeue and alivie
separately -
13 n from alkane, Zn from alkene & 3n from alkyne
2) 3»n from alkane, n from alkene & 2n from alkyne
3} n from all
o 43 2n fromall

-
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O8) TR, UEEN T UREA Uo® & | AW § 5q 9 CO, % {wad " wr A -

1) Oss H n, UREM 8 2n G997 OEET T 30
2) Uik & 3n, WA U n AU UREEA H 2n
3 i HEn
4) 7T 4 20

99) Benzoic acid reacts with A and phenol reacts with B to form benzene. A and B respectively are -

1} Sodalime and Zn powder 2} 7Zn powder and sodalime
3) Zn powder and NaOH 4) Sodalime and copper
99) iz @ A & W (B B F M1 e wve a5 a9 ¥ A U9 B B E |
1) mrEwmes oY e gl 2y T ot wd Hreeny
3y 7% T o9 NaOH 4) HEEEY UG H

100) An alkene on ozonolysis forms acetone and formaldehyde. Alkene would be -
1} but-i-ene 2) but-2-ene
3y Z-methyl but-2-ene 4) 2-methyl propene

100) v tFp & I STTed A UHEH Ud BHEEET O S | Ushe BN -

by el 2) =25
3) 2-ufus ege-229 4y 2wigm e -

&
1ODYWho 1s the author of book “Veer-Vinod'?

1} Suryamal Mishran 2y Kesrt Singh Barhath
33 Shyamal Das 4y Gaurt Shankar Ojha

101) 5= AF g e gr feodl 7 e ~
1) qdT@ o 2) B9 E gEes 3 SAme A 4y TP 9T AT

102) The term ‘Misolithic” 1n its real literal sense means:

1} Middlestone age 2y Middie Palaeolithic ora
3} Upper Palacolithic era 4) Lower Palaeolithic times
ﬁ 102y el v/ #1 aratas oEEs B o ¥ -
| 1) HE GISOERT g 2) T QA FEE G
3y TEE I ST 4) e I

103} Who among the rulers of the following place adopicd the title of rawal and maharawal -

° 1) Jodhpur 2) Dungarpur 3) Kota 4y Bikaner

-
Q{leDlRESULTE
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103) Fpg Tl § A el & qReer! 2T e T2 qEETEe @ suiitef v @ ud 4 -
1) SEY? 2) LYY 3) & 4) drEEET

104) Who amongst the following was the founder of Kota State?

1) Rao Mukand Singh 2y Rao Madho Singh
3y Rao Ratan 4) Zalim Singh

104) et s7=7 & Gends 95 9 9w a7 7

1) wa g e 2) 7 A= 3) g w4 4) oty e

105) Which of the following Mughal ruler confirmed the title of ‘Raj Rajeshwar’ on Sawai Jai Singh?
1) Aurangzeb 2} Shahjahan
3} Bahadurshab - 4) Muhammad Shah

1035) fysy fifgm o 4 oy g AgE A TR TEWE &0 U TEYET & T 7 el fea ar
1y s ) o 3) TR 9B 4) YEHE T

106) Which one of the following pairs 18 not correctly matched:

- 13 Rana Pratap - Sisodia 2) Raja Man Singh - Hada

3y Jaswant Smgh - Rathore 4) Maharana hammir - Guhil

106) Fogmr et 0l & s wn wA1 oy T E -

1y IO U - FEEe 2y IH O E - 2T
3y A - e 4) HET BN e

107} Here is list of wars which were fought during medieval Rajasthan :
iy Taram-1 war it} Khanwa

iv) Bhatwara
Their Chronological order s :
1y 1,10 1,1y 23 ik by 3) v il i 4y Hih iy

107) == %o gEl & 99 A 9E 2 A STEEEE e | W2 T g -

1) FIEE - U gE ERCIECH
jii) T vy HEdTE

.ﬁ: ) i, v 2) il i, iv 3) v, i, ii. i 4) i it, 1. v
(#)NDIRESULTE ndiresultin whatsapp - 9352018749
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108) With the correct name of the fort/Durgs against the places given below

iy Jaisalmer - Mehrangarh

2y Jodhpur - Junagarh
3y Shergarh - Koshwardhan

4y Bikaner - Sonargarh

1y e - HETTG
2) g - HHTTE

Lt

P =

109} The main devotees of Saint Pabuji are -

£y Reharis 2) Jats 3) Chhipa 4y Gurjar
09 opet gt % ST g # -

by 2) wre 3) 4y AT
P10Y In which musical mstrument. Rana Kumbha was an expert?

BECH 2y Gitar 3) Veena 4) Sarangi
V0 e pear o Fesife s P e w0

E15 The most celebrated examples of kota pamntings are the -

-y EBiephant Gights scenes 2y Hunting scenes
y Conrt scenes S 4} Festive scenes

Ve T 9T B TaumeT g § -
Uy EilmE T ASTE % 39 2) {9/ % 59n
Sy ETET g9 4) T T5g
Py sdaweh list-Dwith list-JT and select the correct answer by using the code given below :
List -1 List - 11

@y Shatkh Hamiduddin Mitthe Mahabali iy Japur

By AMaulang Zlandding ity  Gagraun
¢y Shaikh Naimuddhi 11y Khatu

) Shaiklh Baba Ishaque iv} Fatehpur

FARE S
LM

ol ivOER 2y L, b, Y 3} i, i, i 4y ivob, i

g”g"\iblRESULTE indiresult.in whatsapp - 9352018749
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112) g wee vd geitadm @ fmied vd 98 B8 W $e B sram wowdl g e aae e -
- T -1

ay 9 wdigde o aemae ) TEy

b) G STEEE i) T

¢) 7T THEEN i) e

d) gve ATEr BEiE vy ®AEgT

1) i, i, iv, i 2) i i, i, v 3y i, i 1. iv 4y v, i, i, i

113) Which one of the following fort is the best example of water fort?
1) Kota 2} Achalgarh : 3) Gagraun 4)  Shahbad
113) fomy Ffger o & o797 orwgel o1 SR TETETO B

1) #ieT 2) SR 3} R 4) gmEETE

114) The ruler and Saint Peepa was associated which place?

1) Amber 2} Varanasi 3y Javal 4y Gagraun
114) s 9 TE A A R e T AdE g 7

1) HTET 2y AT 3) e 4) TRIHA
113y Which one of the following statement regarding the Sringar Chanvari is right?

1} It is a shrine which was buils by mandan in 1489 AD.

2) T is a secular movement built by Rana Kumbha in 1448,

33 It s atemple buitt by Vimal Jain at Delwara in 14072 AD,
4) Itis a shrine built by Bhandan Velka in 1448-49AD.

115}%mﬁavﬁ?é?;ﬁa‘air§lﬁ“. H T HUH T R

1) 7% UF IUTHRT e & TR 9UEA 1489 T I SN of

2) TE U NI oy 7 OTHA T FRT T 1448 F. o eeemar o |
3) 48 U HiEy ¥ WW*%“&‘MO”W?‘WW}W%ETI

4) T 0% B W R AT R g6 9 1448-49 £ F geEmy o7 |

116) The famous ‘Sita Bari® fair is celebrated in the district of
iy Kota 2y Barmer 3y Baran 4y Chittorgarh
116) <firavdy 7 uitrg 99 o9 s 4 s g 7
° D FE $2) A 3) A 4y fasirzne
(. 'INDIRESULTE indiresult.in whatsapp - 9352018749
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117} Raniji-ice-Baori was constructed by ... in. during the reign of Raja ............

1) By Hadi rani in 1630 AD during of the reign of Rao Aniruddh Singh

2) By Bhimsingh in 1703 AD during the period of Buddsingh

3) By Lad Kunwari w 1708 AD during the reign of Ramsingh

4) By Lad kunuwari in 1700 AD during the reign of Buddhsingh

117) 7S hT-arast @ Ry e BT HH o T OTTET K 9T H WO N o -

1) =i oFr 27 1680 F. H TE ity BIE F oEe A
2) “imftE s (705 € F v g M ¥ e H

3y W I E 1708 £.5 779 [HE 6w A

4) ATE e ERT 1700 5. W gE W % aw o

118) Who was the first chancellor of ‘Chamber of Princes’?

1) Maharao Bhim Singh ' 7y Karni Singh
3y Gaj Singh 4y Ganga Singh
118) ‘sz iy Tid o1 waq ArF@7 & a1 7
1y wERTE M R 2} &7 T 3y wH fie 4y I fe
) 119} The treaty between the Mewar and British was signed on - -
1y 8 March, 1818 2y 12 January, 18I
3) 10 March, 1817 - 4) 10 March, 1818

119 vz od ol & we Ay 97 TR B T 4
() 8 aF, 1818 2y 12 EETAL ISi8 3y 10 =1, 1817 4) 10 77, 1818

12G) Bharatpur and Alwar States signed o treaty with Britsh Bast India company i -

Iy Sept- Nov, 1803 2y Aug - Gct, 1804
3y Jan - Feb, 1804 4 Murch - May, 1806

120y wperyy g e | e D sl AT %oy St w1 9

1) FrrEy - wEET 1803 A 2y IEA - e 1804
33w - weEh 1804 | 4y mF - wE, 1806 H
E i21) The Rajputana Agency was estaolished in ... at .o
{3 1835, Nagaur 2y 1830, Jodhpur 3) 1829, Jaipur 4y 1832, Ajmer
1Y) e T A O e H G e ot o
° [) 1835, WP 2y 1830, FEgT 3) 1829, wayY 4y 1832, ¥
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122) Mewar Rajya Praja mandal was established in
1) 20 April, 1938 by Balwant Singh Mehta
2} 24 April, 1940 By Manakyalal Verma
3} 24 April, 1938 by Balwant Singh Mehta
4) 20 April, 1938 by Jammnalal Bajaj

122) Fams TI5-USH HOEE BT ETIAL o H oo

1) 20 W@ 1938, e FE #Ear 2170
2) 24 FUW 1940, HOETEE T8 A7

3} 24 U 1938, geed M T B
4) 20 3T 1938, SHAR G B

) /:
@lNDlRESULTE

YOUR SUCCESS PARTHNER

- BRI AT -

123) Which one of the following incident was called as ‘dyrism double distilled” by Mahatma Gandhi?

1) Neemuchana incident of May, 1925
2} Chandaval incident of March, 1942
3) Dabda incident of March, 1947

4) Barda mcident of June, 1922

-

123) fogeg T 5 & w9 =7 9o o HERET ME 9 IV & fE T g R R aam] -

1y TN CFEA, 9E 1925 F
3y TEE F AL, AL 1947

124) The famous "Akki movement” was lod by-
1y Govindgiri

3} Sadhu Sitaram
124) wiyen O] AR T e e T T -

1)y mide 2y WATAE A aEa

2y IHETEE R AL AT, 1942

4y T F AEAL AE, 1922

7y Moulal Tejawat

"4y Keshari Singh Barhat

3) T AT 4y wmurdl W meee

125)To finalize the issve of the capital of new Rajasthan a commitiee wis constituted under the

presidentship of -
Iy Lt colonel, T.C. Pun

3) B.R. Patil

21 B.P Menon

4y Shapkar Bao Dev

125) st 7T 1 ASEE S GE E @vH BT TR FEET T e DA e O Taes e i

1y R AL 9

@, INDIRESULTE
\/ Jo T TART N
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126Y Interms of area how many times larger is the Jaisalmer district than the Dholpur district of Rajasthan?
1) 15.22 times 2} 16.66 times 3) 12.66 times 4) 1122 times
126) sirper § wpoper 1 FEAET Faen Sege G d e a7
1y 15.22 9 2y 160.66 0 3y 12.66 7 4y 11.22 i
127) Arrange the following mountain peaks of Aravallis i descending order of their height-
1) Jarga, Achalgarh, Kumbhalgarh, Raghunathgarh
2) Jarga, Raghunathgarh. Kumbhalgarh, Achalgarh

3y Achalgarh, Raghunathgarh, Jarga, Kumbhalgarh
43 Kumbhalgarh, Achalgarch, Jarga, Raghunathgarh

127) srveelt & Fafafag odm - el &1 39 Tae & s B § wafys Fifao -
1) ST, SRR, FEENE, TR

/ 2y I, VYA, BEEE, ROWE

3) EETg, TYHTENTG, ST, AT

4) e, e, WO, THEYTE

128) Which one of the following pairs correctly denotes latitudinal-longitudinal extent of Rajasthan?

Latitudinal Extent Longitudinal Extent
1) 2330 3PI2N C APAR 0 TITE )
27 233010 30°12'N - YN0 TR THE
3) 24%30 30°LE'N C 6930 TRUTE

43 23°3o 071N . 70°45N0 T9°ITE

128) Fafelma | A SFH P TREE F Rl - SUTST TEED A AR ST A T9 E 7

Feyisim AR 29T TR
1y 23°30 9 300120 T - 700460 T 77017 uE
2y 23°30% 30°120 TET - 69°30F R 7817 TH
3y 239309 30°11 T~ 6931 TR T

4) 2373 3013 AT~ T0°450 8 79717 g

1293 Sucturally, the physical features of Rajasthan form part of which of the foliowing relief regions of
India 7

1y Northem Great Plains, Peninsular Plateau
2} Northern Mountain Region, Northern Great Plains
3y Coastal Plains, Peninsular Plateau

* 43 Peninsular Plateau, Northern Mountain Region

a
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129) dvarers gite o Tora & Wids e 9rg & Fefiied § 3 B e w@en @ e E

1) sl geg BeEm, @ usr
2y Tt gddr wlyr, IOl 9Eg EM
3) FEg HEE, gUENE 9er

4) WHANE Yor, TN IGA™ ua9

indiresult.in whatsapp - 9352018749 AL %INDIRESULTE

130) Which one of the following plateaus is not connected with Aravalli mountain -

1) Lasadia Plateau 2) Oma Plateau
€ 3) Baghelkhand Plateau 4) Bhorat Plateau
130) fptfefiae < & e YoR SEE T A g A -
1) @ =R 2y 3z ggw 3) "EEETE g3 4) HEE 9B

131} The river which after entering Rajasthan from south flows westwards and again turns southwards is

1} Mahi 2) Kali Sindh 33} Chambal 4y Luni

131) wg wéy o 7w § 2 & U % TP ivE @ AT @E g g ey 9 oiw s o -
1 =@ 2) & e 3) A 4y &I

132} Which one of the following pairs is correctly matched ?
) 1} Chambal Project - Rajasthan. Uttar Pradesh
2y Narmada Project - Rajastian, Utiar Pradesh
3) Mahi Bajaj Sagar Project-Rajasthan, Madhya Pradesh

4) Beas Project - Rajasthan, Haryana

~ 132) Fiatas § 4w g gt § 7
1) T fraraar - e, T
2y THE 9IS - TS, ey
3) WA SN ARW ORI, AT, S
4) = A - e, v

133) River Khari Originating from the Bijral Hills form part of which one of the following drainage

systems?
1) Bay of Bengal 2} Arabic Ocean
3) Uncertain drainage 4) Internal drainage

133) fysme o1 wEnEdl § Mo 9O @t a8 e 8 9 e s g9y g am B 7
°' 1) W i BT 2) ¥ WEEE 3) wiivEE e 4y w=tE AuaE

(:?/glNDIRESULTE indiresult.in whatsapp - 9352018749
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134) Which one of the following climatic regions proposed by Koppen is not correctly matched in
Rajasthan ?

1) Aw - Southern part of Rajasthan
2) Cwg - Northern part of Rajasthan
3) BWhw - Arid desert

4y BShw - Semi-arid desert

134) gy 301 wge weerg TEen ® W TSR ¥ @t gaken 98 E 7

1) Aw  — YRYE F S 9
2) Cwg  ~ 79I %1 SHI HET

3y BWhw — 9% a5
4) BShw - HE-g%F AFEIA

135) Which one of the following pairs is not correctly matched ?
1) Udaipur - Chittorgarh - Red - black soils
2) Alwar - Jaipur - Loam soils
3y Sri Ganganagar - Hanumangarh - Grey Sandy soils

4) Kota - Jhalawar - Black soils

135) famifaias & & o gy 98 gafad 28 & 7
2y FAT - WYY - EHe e
3y AP - EEETY - 9 g
4) T - FEEE - -

130) What is the root cause responsible for scarce rain in western Rajasthan?
1) Location of the region in rain shadow zone
2) Sudden incoming of south-east moisture-ladden winds over an intensely heated landmass
3} Mechanism of the Indian Monsoon

4) Orientation of the Aravalli mountain range

136) ofgerdt yoym § =g vl % W0 TaEEl ga sdverd s e g v
1) Ffte wrar ger § e @m0 sty
2) At 3o we-Eee u afirgdl crdenend savat #1 wehnE way
3) WAE BEEE @ Sl
..z;} SVTER T 07 B %Ef{f'}aﬁ
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137) How much area of Rajasthan would get the benefit of irrigation by Indira Gandhi Canal on its

completion?
1) 17.41 lacs hectare 2y 11.63 lacs hectare
3) 15.17 lacs hectare 4y 19.65 lacs hectare

137) gfier vl =7 % ol &9 97 vmme % fhay 6§t g faar o @ o & 9

1) 17.41 #rg gaeg? 2y 11.63 w0 §FT?
3) 15.17 A 2T 4} 19.65 g TFCOY

138) How are the soils of western Rajasthan get impregnated with acid and alkaline elements?
1) By water flow in soils
2} By water capillary action through cells from lower layers to upper layers of soils
3) By leaching of soils
4) By percolation of water from upper layess to lower layers of soils

138) ufyepdy Tomarm &1 8 oy o i F=0 § dfreR $9 8 s B 7

1) 5= F 9gm@ (flow of water) T

2y fydl @ Fraen @he W OSW &1 {F BNl 8P @9 DA (capillary action of water through
cells) #

3) Tt F 7= (leaching) M

4) 9z & FT 998 A AT FA T (water percolation

139} Which one of the following is the correct sequence of forest types in Rujasthan m descending order
of area occupied by each?
1) Dry deciduous - mixed deciduous - tropical thorn - sub-tropical evergreen
23 Mixed deciduous - dry deciduous - tropical thorn - sub-tropical evergreen
33 Sub-tropical evergreen - mixed deciduous - dry deciduous - tropical thom

4y Tropical thorn - sub-tropical evergreen - mixed deciduous - dry deciduous

139) isrwed & SIS B9 O TSRy H Fd W HT -] e T8 27

1) 9I9F TUET - i quirEl - ol wIeEr - TUO weasg HIEA
2) Tyfad guiar - 99F Wil - Tonmfosely wieen - T wleasliy werha
1y wOTT HwiCAST HEEhE - fibE goierl - 99E 90T - 3T R wEEr
4) IONHEEHR HICAN - T0en gfeaei FEEDA - Al TR - g aeereE
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140) In which of the following wildlife ecosites in Rajasthan bio-diversity and genepool conservation
programme is curiently in progress”’
1) Bundi, Tal chhapar, Phulwari-ki-Nal, Band Baretha
2} Nahargarh, Sajjangarh, Sariska, Mt. Abu
3) Sitamata, Kumbhalgarh, keladevi, keoladeo Ghana
4} Keoladeo Ghana, Jaisammand Lake, Mukundarrah Hills, Ranthambhor

140) worend ¥ fReafeiaa 9 0 e gl witigios - =l © aomE 4 9 [y o S G
&7 T Wit o E 7
2) ATETE, WSHAE, THER, W AR
3) AAE, PR, FEdl, FEAART T
4y WERIEA e, e ofie Gl e, o

141} The districts of Rajasthan where the perfumed grass Khas is grown in abundance -

1) Jhalawar, Bundi, Kota

2) Bhilwara, Ajmer, Chittorgarh

3) Bharatpur, Tonk, Sawai Madhopur
4) Karauli, Alwar, Dholpur

1AY) roregry 8 8 Foet 999 wPy w09 8t A apT agre g T 2

) wemarE, 431, Hie ' 2) T, wnrr, EEETR
3) WYY, €, HOE ATy 4) EIE, qAIT, AL
142) Where is the "humpbelt’ infested with the problem of fluotesces located in Ra_iasﬂ'lam‘?.
= 1) Nagaur - Ajmer 2y Banswara - Dungarpur
3) Bharatpur - Alwar 4} Tonk - Dausa
142) wroreent | Ggfifs o1 weear o WA CFEsudl £ wet e B
1) AR - 2y AR - Sy
3) YT - ey | 4) =RF - EPH
143) What is the root cause of desertification in Rajasthan?
1) Salinity of underground water 2) Uncontrolled miming
# 3} Scarcity of rainfall 4y Chmatic chjmgcs
14A3) 7rseens § HEREEERI 4 U 0T a9 g 7
1) 49T 7S &1 A 23 AR e
" 3) A @ 4) FrEry afEd
(#)piResuLTe
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144) Match List - 1 with List - IT and select the correct answer using the codes given below the lists -

List - | List - TI
(Areas in Rajasthan) {Animal Breeds)
i} North-western Rajasthan a) Rathi
i) South-western Rajasthan b) Kankrej
i) Western Rajasthan ¢) Tharparkar
1¥) South-east central Rajasthan dy Gir
Code
1y (he @b Giya  (vid 2y (Ya (b  @ic  (v)yd
3y (ha (b (upd  (Gv)c 4) (b (iyc ((H)d (iv)a

144) 7t 1 gl 114 gife St au gt & A [T T e & 9 & §E I gy -
Tl 1 , el

(e & &) (ag] i)

1) TETRYEE] T a) T

i) se-gfsael e b) WHEA

jii) AIgEET T ¢)  UTATET

iv) slerorqd Hegedl T 4 fiv

1y (he (b Gia  (v)d 2) (ha (b GiDe (v)d
3y (1)a (iyb  {ihd (v)c¢ 4y (hb  (me  Gi)d  (v)a

145) Of the following National Highways passing through Rajasthan which National Highway is the
fongest within Rajasthan terrifory?

1} NH 1] 2y NH 12 3 NH I35 4) NHS

145y vpsprggre oy T (IIEREE TR TRAHET H R -0 TSR TSN TR - FeiiiE

1y TTER T i 2) T TIEE 12
3) TS TSEr 1S 4y T A 8

146) American cotton in Rajasthan is produced in which of the districts?
1) Kota, Bundi, Baran
2y JThalwara, Ajiner, Sirohi S .
3) Rajsammand, Udaipur, Chittorgarh indiresult.in whatsapp - 9352018749

4) Banswara, Hanumangarh, Sriganganagar
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1) e, 95, o’ D) WS, SO, A
3) woEns, I8ay, REETE 4) =iEErE, TEETE, AT

147) Minerals in which Rajasthan bolds monopoly in the country -
1) Garnet, Wollastonite, Granite, marble
2) Jasper, Gamet, Feldspar, Gypsum
3) Jasper, Garnet, Emerald, Wollastomte
4) IJasper, Garnet, Marble, Lead-Zinc
147) 3 wfaa B9 F Torad # 29 H usieTd ¥ -
2) T, awrEn e, e
1 4) S, AT, HE,
148) 'The first wrigation project of Rajasthan in which sprinkler irrigation system has been adopted to
conserve water -
1) Yamuna Water Irrigation Project
2) Narmada Canal Project
33} Siddhmukh Nohar Project
4) Bhikhabhai Sagwara Canal Project

148) v = = v B ubans B om s 29 war e ggfa e sosrar v & -

1) =g ste g afarsn 2) R FET G
149) What is the length of roads per 100 square kilometers in Rajasthan? 7
1) 56 kilometers 2) 50 kilometers 3) 60 kilometers 4} 72 kilometers

149) yrsmem @ ofg 100 a1 feeivie? Sewe O gsw o g fpad 27
1y 56 fEwEnes 2) 50 fawndey 3) 60 TR 4y 72 TeAmERT

;§ 150) Which one of the following statements regarding contribution in mineral production of Rajasthan
L4 is not true?

5 1y Rajasthan produces cent-per cent Wollastonite of India

& 2) Rajasthan produces 96 per cent Flyorite of India

#

3) Rajasthan produces 75 per cent Rock-phosphate of India

4} Rajasthan produces 90 per cent Jasper of India
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150) wroeems &1 wibe Zemed | 9ieM & wa et § 9 S eue s R 7
1) TS EE W SO gEeFET 39S B B
2) T AU 96 Wa9E WNET 30 %l ©
3) e W @l 75 9 UE ihe 39 & B
4) TEENE YA w90 WY SR IR §9 B
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